' Module 8 Extra Test Review

1. The 14 term of an arithmetic sequence is 39.7 and the 3™ term is 6.7. Find the common

difference and the 32" term for this sequence.
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2. Find the sum of the arithmetic series3 + 5+ 7 + -+ 51.
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3. Which term of the arithmetic sequence —1.8,—-1.6,—1.4, ... is 0.8?
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7. The third term of the geometric sequence is 2 and the 9" term is 2—01;5. Find the common ratio
and the first term of this sequence.
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8. The first term of the geometric sequence |s L and the second term is 1. Find the sixth term.
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9. How many terms are in the sequence 0.75,1.5, 3, . 3145728?

- S‘ g
= ‘ 2 2\4572%-11S Lz S
S i n=
L\\Q‘-\bot\ Z .—\‘ h el L
2. % 'L Y
1as 48 rows of Kleenex boxes. There are 7 on the top row, 13 in the second
1 row and so on. How many boxes are in row 28? How many total boxes are in
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